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01 다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?

One of the most celebrated political images in 
modern times is that of Soviet Premier Nikita 
Khrushchev ①pounded his shoe on the podium 
while delivering a speech at the United Nations 
in 1960. Everyone interpreted his histrionics as 
a tactic ②aimed at threatening the West; a man 
who would pound his shoe one moment might 
use his nuclear weapons the next! Thirty years 
later, Khrushchev’s son Sergei explained his 
father had had something far different in mind. 
Khrushchev, who had rarely been outside the 
Soviet Union, had heard that people in the West 
③loved passionate political debate. So he gave 
his audience ④what he thought they wanted ─ 
he pounded his shoe to make his point. When 
people were shocked, no one was more 
surprised than Khrushchev himself. He had just 
been trying to look like one of the guys. ⑤What 
became the very image of the irrational Russian 
was apparently the result of a simple 
cross-cultural misunderstanding. 
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02  다음 빈칸에 들어갈 말로 가장 적절한 것을 고

르시오.

You don’t have to be a cardiologist to know 
what you should eat, or at least that a diet of 
candy and pizza is problematic. But this is 
precisely why that CCU on-call room is so 
illuminating. Cardiologists see with their own 
eyes and hold in their very hands the diseased 
body parts that come from eating poorly. Putting 
aside the CCU interns’ and residents’ youthful 
sense of invulnerability, a junk-food-eating 
cardiologist seems like               . Such a 
person is a living example of the cognitive 
disconnect between intention and consumption. 
We consume the dietary weapons of mass 
destruction even when all our training and 
experience tell us not to. A survey of almost 
300,000 U.S. physicians conducted in 2012 
revealed that 34 percent of cardiologists report 
being overweight, with 4 percent actually obese. 
Forces beyond knowledge and free will are 
clearly at play when we eat. 

① a therapeutic expert
② a medical contradiction
③ a healing magician
④ a prototype of a doctor
⑤ a real blackmailer
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03  다음 글의 흐름으로 보아, 주어진 문장이 들어

가기에 가장 적절한 곳을 고르시오.

If authorities have short hair, then long hair 
is a symbol of opposition to that authority.

If authority is represented by a series of 
symbols, opposition to that authority is 
symbolically represented by an inversion of 
those symbols. (①) In the 1960s in the United 
States, all men in authority had short hair. (②) 
Young men created a symbol of opposition when 
they allowed their hair to grow long. (③)  
However, today, wearing one’s hair long is 
acceptable. (④) Long hair is no longer 
considered a symbol of opposition to society, but 
dyeing one’s hair fuchsia, blue, or orange is. 
(⑤) During the seventeenth century, the 
Cavaliers of Charles I of England wore their hair 
long, while those who opposed them, the 
Puritans led by Oliver Cromwell, wore short 
hair. The Puritans’ hairstyle became the focal 
symbol of their opposition, and so they were 
called Roundheads (as depicted in a cartoon of 
the period).
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04  다음 빈칸 (A),(B)에 들어갈 말로 가장 적절한 

것은?

In doing fieldwork, the anthropologist often 
finds that some of his best interviews are the 
result of chance encounters.    (A)   , one of 
my colleagues had the experience of walking 
down the road to the village post office, not 
intending to meet anyone or discuss anything in 
particular. But, on the way, he saw an old man 
gathering stones from his yard and arranging 
them in patterns in his doorway. Stopping to say 
hello, the anthropologist asked what the old man 
was doing. He learned that the stones were 
meant to keep demons out of the house. This 
was important because his daughter-in-law had 
just gone into labor, and newborn babies are 
especially susceptible to any wandering demons 
who might be sent out by magicians in the 
employ of the family’s enemies.    (B)   , in 
this chance meeting, the anthropologist learned 
something about certain myths and rituals, about 
family relationships, and about the network of 
factions in the village.

      (A)    (B)
① As a result Furthermore
② As a result Thus
③ In other words In contrast
④ For example Furthermore
⑤ For example Thus
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05  다음 빈칸 (A),(B)에 들어갈 말로 가장 적절한 

것은?

How can children learn to focus their attention 
on something longer than a text message and 
more challenging than a YouTube video? The 
usual advice is to get them reading books, and 
we’re only too happy to support that.            
   (A)   they can also work on attention by 
playing the right kinds of games, starting well 
before they’re old enough to read.  Some of the 
most successful recent self-control programs 
have drawn on the classic experiments of the 
Russian psychologist Lev Vygotsky, who used 
play to improve children’s skills at certain tasks. 
The children in the experiments generally 
couldn’t stand still for a long time, but their 
endurance increased if they pretended to be 
guards on watch.    (B)   , they had a much 
easier time memorizing a list of words if they 
pretended they were going to a store and had to 
remember a list of things to buy.

      (A)    (B)
① In other words Similarly
② In other words For example
③ Thus On the other hand
④ However Similarly
⑤ However For example
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06  다음 글의 흐름으로 보아, 주어진 문장이 들어

가기에 가장 적절한 곳을 고르시오.

He is also credited with constructing the first 
grid system for cartographic representation, a 
major achievement in that it established a 
means for accurately determining both distance 
and direction from a map.

The ancient Greeks were the first culture to 
develop scientific techniques for making accurate 
maps. (①) Two Greek scholars have a particular 
importance in the history of cartography: 
Eratosthenes and Ptolemy. (②) Although they 
lived approximately three centuries apart, both 
men played a vital role in advancing cartographic 
techniques that would pave the way for much 
more accurate and detailed maps. (③) 
Eratosthenes, using the principles of geometry, 
derived a highly accurate measurement of the 
earth’s size. (④) Ptolemy modified the grid 
system of Eratosthenes and offered his own 
calculation of the earth’s circumference, although 
ironically, his estimation contained a much 
greater error than that of his predecessor. (⑤) 
His coordinate system, however, provided the 
basis for the modern application of latitude and 
longitude.
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